N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

%] F %]
X r <
[=] o [=]
Sk g
&
b 8
10*F <
3 S 10
10°F
10%F
10F
E jl
1=.- -----
e F
T 2F
& AN ] : N N E T
oot
IR | £ B Ty R :::I,'-.!'-:--
—-25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 F 2 £
I S .f e g
IO A =10° s £
E . . ) o)
3 2 Raly 2
10°F N
E . S 10
D] IS ; 10°
10°
10
1
o
T
X 1.5
10 20 30 ’ 10 20 -30 -20 -10 O 10 20 30 0¥ 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


